7.2 Multiplying Polynomials by Monomials

October 20, 2015 10:01 AM

* polynomials are made up of 2 or more terms connected by a " + " or

$$
\text { ex } x+5, \quad 2 d-2.4,3 s^{2}-5 s-6
$$

* to multiply a polynomial by a monomial algebraically, you can EXPAND the expression using the DISTRIBUTIVE PROPERTY
$\rightarrow$ multiplying each term of the polynomial by the monomial
Ex.\#1

$$
2(2 x-1)
$$

monomial polynomial
"expand" or " ditubutive property"

$$
\begin{aligned}
& 2(2 x-1) \\
= & 2(2 x)-2(1)=4 x-2
\end{aligned}
$$

Ex \#2

$$
\text { a) } \begin{aligned}
& -y\left(y^{2}-7\right) \\
= & -y^{3}+7 y
\end{aligned}
$$

$$
\text { b) }\left(\frac{1}{2} \xrightarrow{a}\right)\left(\frac{2 a+4}{\longrightarrow} 1\right.
$$

c) $4 x\left(x^{2}-x+7\right)$

$$
=\frac{2 a^{2}}{2}+\frac{4 a}{2}
$$

$$
=4 x^{3}-4 x^{2}+28 x
$$

$$
=a^{2}+2 a
$$

Use a Model

Use a model
Algebra
Tiles


$$
\begin{aligned}
\text { Area } & 4 x(5 x+1) \\
\text { Model } & =20 x^{2}+4 x \\
& =\text { Area }
\end{aligned}
$$



$$
\text { pg } 268 \# 3-17,19-21
$$

